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It was said; negligence with the owners — 2923 YWD MNOR

OVERVIEW
The X723 cites a NP between X1°27 RnX 27 regarding whether the o of 7nw
0°v22 applies to a 7¥°wo or not.! MdoIN discusses what is the 75971
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The 1" ruled that 2°5v22 7y°wd is 7w, for the reason that there is an established

rule that wherever 81°271 XnX 29 argue the ;7597 is like the lenient view -
- 49N VDY K9YP 23UN BIPN Y91 P 2235 XN 91T 323 by 9N

Even though ruling w5 o°%v21 7y°w»s is strict regarding the depositor (for he
will not be paid for his loss), nevertheless it is considered a leniency to exempt

the possessor of the money -
= RDIPY NINN PO 519999875

As the X1 says, in a doubt regarding monetary issues we are lenient -
= 693197 %29 29 2999 (3,07 97 PNy AVINNI NIYN P97 1P9a1Y NN NYAND YN

And one can bring proof to the s'n"2 opinion (that 715 o°%vaa 7Yy wo, since XIpn

119 1991 1157 wIT1) for in 2w 7w POD there is a dispute between "' 29 -
— 513192 5295 1Y NP 71939 239D 19395 WYY NIPNT 1IN 229 9209

And ' maintains there that 1212 %3591 1915% w271 X7p%, and we have established
that the 7097 is like "' when he argues with 21 —

NvoIN reconsiders:
= FONY 1PN N920D2 2097 0NN SPINT INNY 1791

! The xm1 explains that the dispute depends on whether 1719 1991 1°19% w171 X7pn (even to a n"w) so therefore Y wo
2°»v23 is MWD or whether X7 is 11d% WAT1, but not 1719 *19% and therefore 0°%vy22 ny°wd is 27n.
21,7y o°roo.
3 In monetary issues it seems that there is no lenient or strict view; what may be lenient for the claimant is strict for the
respondent and vice versa. Nevertheless the i1"7 explains that there is a lenient and strict view even in monetary issues.
4 The 7po1 (or W) is the prmn; the TPon wants to extract money from him; in deciding what is a X1 or X7, we
look at it from the perspective of the p1min. We are ruling whether he should pay (X211) or not (R?1p).
5 1"wn 2,39 M. The case there involves a Pw1Tp pod, where the ruling is that he is required to give her a v3, but not
to pay her the 721n3. The explanation given is that X299 X311 290 (no 721> payment) and R¥M? XRNO°K P90 (a VA is
required). We derive from that X »3 that we look at the prmn, the husband, to decide what the X717 is for him, even
though it is a Xv 1 for the claimant (the wife). See ‘Thinking it over’,
6 29 maintains that a 7 can bring X210, but cannot be 2>wan, while *" maintains that a 7> is W) IR™W X227,
7 The P03 in m2,%> (1nWw) XP™ reads; 07 X3 Xny 17y AN 9931 ¥1 2y 07 1m2 *3). The word 03% is 7° 127, While 27
maintains that this "1 of 7> applies only 1°197 to ®1u, nevertheless *"1 maintains that it applies even 119 *19% to 1n° 2
21 0% which refers to 7w>7, that a 7° can also be wan (if the 7 was aR™w 93p7 WM the entire 721X is WIM).
8 See X,7 702 that 137 "3 7997 130 ' 21, Therefore just as we rule there that 1919 %197 wWA71 Xpn so 7° is 1w, here
too we should say 19 °19% w171 Xpn and D°92¥22 7Y ws is Mwo.
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However according to the way the X7n2 there established that they argue based

on logic® (not necessarily on a p109) there is no proof to our case -
= 10995 952 15 1399 NI W7 PN IN 139D YT RIPNI 9INT INNDY TYINT T

And additionally it is possible that whoever maintains 1°15% w971 X7p» or it is
not 1157 w171, that position is not applied everywhere —

NI anticipates and rejects a possible proof that 21 2°9y21 "y wo:
= (8,3897) 1229592 127 19) (3,89 97 w9 PPIVINNA HAYPHY NN

And this which the X713 asks in 19128577 279, and similarly later in our P99 -
= DN INNAN 2N DIYYA NYIVI 9INT NN NN

‘But according to the one who maintains 2w 2%%yaa ny'ws, why was he

embarrassed’; that question -
1 DINYNI DINMNINN 120757919 AWP> YW NIN NaY1 19V DIVN XY

Was not necessarily because the 7597 is 21 0°%y22 ny°wd, but rather in order
that there should be no difficulty to this 7"» who maintains 21 2°%y22 nyws
from the earlier 2°891%R, who maintained 705 0°9¥y22 7y°wo.

SUMMARY
The 1"9 rules Mwd °%¥22 7Y wd for PN R71P X1IMH po0. However '01n rejects any
proof either way.

THINKING IT OVER

The various cases where we say X7P% 171 P90 seem somewhat different than our
case of °%vaa nywo, where there is a real loss to the o°%v2; mown p"™T.

9 The R7ma there says it is possible they argue based on the 109 or it is possible that they argue based on logic
(meaning that "1 does not [necessarily] maintain 1719 *15% w271 X7pn, but rather); °"1 maintains that w27 is n2°nn
78w, This has no connection to our NPY?MA.

19 One may maintain 115 %157 (w171 X?) w771 Xpn in one place and in another he may maintain the opposite (depending
on the context of the 2’109, etc.). Therefore even though *"3 maintains 1°39 *19% w171 X7pn by 7, it does not necessarily
follow that he will maintain 1°15 9% w171 by Xw. There is therefore no proof at all. [It should be perhaps pointed out
that "1 maintains 119 9% w171 in one 109, however in our case it must be 1°19 %197 W71 two N1PWwIo.]

1 %99 27 (in 737 P79) and X271 (in our P79) (supposedly) ruled in a case of @7v22 Ay wo that he is 2»n. Their
students asked them but it is 2°2v23 ny°wo, and they were embarrassed. The mona there (respectively) asked,;
‘according to the 211 0°%v22 7y°ws 7", why were they embarrassed’? It would seem that the X3 is asking since the
7997 is 21 o°%v13 nYwd, why were they embarrassed; otherwise what is the s'k7n3 question; they were embarrassed
because they maintained Mws 2°%v22 7y°wo?! Our MOOIN rejects this interpretation of the s'k M3 question.

12 The s'8m3 question was how can (either) XX 27 or X137 (who were from the later 2°X7X) maintain 2°9v21 7YWwo
21, when we see that 5" and X217 (who were from the earlier 2°%71K) were embarrassed when they (mistakenly)
thought they mistakenly ruled 2>n 0°2v22 7v°ws! See &1 7"7 X,%0 V% 'on [TIE footnote # 3 & 5].
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